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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - ‘A’
Question numbers 1 to 10 carry 1 mark each :

The sum of 0.3 and 0.4 is:

7 7
@ 15 ®) 5

Every point on a number line represents :
(a) A natural number (b) A rational number

(¢) A unique number (d) An irrational number

8 is a polynomial of degree :

@ 1 © 5 © s

The remainder when x°! + 31 is divided by x +1 is:
(@) 30 (b) 31 () -1

Euclid stated that if equals are subtracted from equals, the remainders are equals in the form
of :

(a) an axiom (b) a postulate (c) a definition (d) a proof

The complementary angles are in the ratio 1 : 5. Find the measures of the angles :
(@) 15,75 (b) 75,15 (c) 12,60 (d) 60, 12

In a right triangle the two acute angles are in the ratio 4 : 5. The acute angles are :
(@) 50 :40 (b) 40:50 (c) 45:55 (d) 30:60

In the given figure 1, the ratio ZABD : ZACD is :
A

B
Figure 1

(@ 1:1

940112 - B1




In AABC, £A=50°, £B=60° arranging the sides of the triangle in ascending order, we get :
(@ AB<BC<CA (b) CA<AB<BC (¢) BC<CA<AB (d) BC<AB<CA

In the given figure 2, I||m||n, If x : y=5 : 4, then the measure of angle z is :

(©)

SECTION - ‘B’
Question numbers 11 to 18 carry 2 marks each.

Let x and y be rational and irrational numbers, respectively. Is x +1 necessarily an irrational
number ? Give an example in support of your answer.

1 1
In figure 3, if QX= 5 XY, PX= 5 XZ and QX=DPX, show that XY =XZ.

X

Y V4
Figure 3

In the figure 4, ZPOQ and £ROQ form a linear pair. Find the measure of x.

Q

@)
Figure 4
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In the given figure 5, £ AOC and £ BOC form a linear pair. If x —y=80°, find the values of
x and y.

xX/Y

Figure 5

14. Find the value of x.

15. Show that y—1 is a factor of y?—1 and also of y?!—1.

16. In the figure 6, AB||CD, find the value of x.

o

Figure 6

17. In AABC, AD is perpendicular bisector of BC. Show that AABC is an isosceles triangle in
which AB=AC.
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18. In figure 7, PQ is a line parallel to the y-axis at a distance of 5 units. What are the co-
ordinates of the points P, Q, R and S.

Ay
2-

Figure 7

SECTION - ‘C’

Question numbers 19 to 28 carry 3 marks each.

3447

1
, then find the value of a + —- -

If a

OR

Find the value of a, if

Simplify the following by rationalising the denominators.

\/3—1+\@+1
B+1 -1

OR

4 3
+ .
343 +242 343 — 242

If V2 =1.414, /3 =1.732, then find the value of
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Represent /9.3 on the number line.

If a+b+c=5 and ab+bc+ca=10, then prove that ad+ b3+ 3 —3abc= —25.

Find the value of k so that 2x—1 be a factor of 8x%+4x3—16x2+10x +k.
OR
Simplify (x+y+2z)>—(x—y+2)%

Plot the co-ordinates of the point :
(i) whose ordinate is —5 and which lies on y axis.
(i) which lies on x and y axes both.

(iii) whose abscissa is 3 and which lies on x-axis in Cartesian Plane.

In the given figure 8, AB||CD. Find the value of x, y and z.

Figure 8

Prove that medians of an equilateral triangle are equal.

In AABC, AB=AC, ZA=(5x+20°) and £B= %th of ZA. Find the measure of Z£A.

Calculate the area of the shaded region.

Figure 9
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SECTION - ‘D’

Question numbers 29 to 34 carry 4 marks each.

Without actual division, prove that x*+2x3—2x2+2x—3 is exactly divisible by x2+2x—3.
OR

Find the value of (x—a)>+ (x—b)3>+ (x—c)3—3(x—a) (x—b) (x—c), if a+b+c=3x.

The polynomials ax3+4x2+3x—4 and x®—4x+a when divided by x—3 leave the same
remainder. Find the value of a.

Factorize (x+1)3—(x—1)3.

In AABC, AB=AC, and the bisectors of £ B and £ C intersect at point O. Prove that BO=CO
and the ray AO is the bisector of £BAC.
OR
In the figure 10, BA||PQ, CA||RS and BP=RC.
Prove that (i) BS=PQ
(i) RS=CQ

Figure 10

Prove that two triangles are congruent if two angles and the included side of one triangle are
equal to two angles and the included side of the other triangle.

In right triangle ABC, right angled at C, M is the mid point of hypotenuse AB. C is joined to
M and produced to a point D such that DM =CM. Point D is joined to point B. Show that :

i) AAMC=ABMD
(i) £DBC=90°

(i) ADBC=AACB

D A

M

B C
Figure 11
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ST ABCH, £ A=50°, £ B=60° 3R A< &t qerail 1 s o1 sigd %9 § foran Sran § 7
Ay e

(@) AB<BC<CA (b)) CA<AB<BC () BC<CA<AB (d) BC<AB<CA
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Y Z
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